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Section B (40 marks) Working steps must be shown in answering questions in this

z ¥R (40 &)

31(a).

31(b).

32(a).

section unless specified otherwise.
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1 3
9
= 1520 2
He needed to run 152%km at least.
1 3
9
= 1520

9
s B Jf §a 15%km °

(240+320)%x(480+30)
= 8960
Mr Chan consumed 8960 kilocalories of energy by
running in total.
(240 + 320)x(480+30)
= 8960
L4 e & = E 8960 F + o

She had 35 sticks with 20cm in length.
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32(b).

33(a).

33(b).

34(a).
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(x+30)x6 =276 ’
x=16 2
He spent 16 hours on painting course every month.
(x+30)x6 =276 2
x =16 )
WEB P EERY 16 o 4
Because (900—200)x90% = 630 !
Only $630 from Aaron’s donation would be 2
used on the work of environmental protection
and was less than $650.
(Accept any other reasonable explanation)
F1A&  (900—200)x90% =630 |
BB i 3P 7 4 $630%* >R iR (T s
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* Agree /disagre®) (* Circle the answer) 1
*RLIGRED (BN L4
May  had the greatest difference between the I
Maximum online users and Minimum online
users. |
ki g b A A Bicfode b A A Biolp £ 1
B s 2
The difference was users.
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34(b).

35(a).

35(b).

36(a).

Marks
A

(280 +360+260)=3
=300
The average of the maximum online users from April to
June was 300.

(280 +3604260)+3 2
=300 g .
dw P 320 s & AamA T isiEF300-

22 2

132+ 7 2

2
=21
The radius of the grey circle is 21cm.
22
132+ 7 =2 )

A ¢ Flend =8 2lem o 4

The cross section is a/an__quadrilateral
P e A v F o
The shape is */ not the same .
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The size is * the same . (* Circle the answer)
Sl e /GAREDe (B E % 2
20x10x12 2
= 2400 2
The volume of this gift box is 2400cm?.
20x10x12 g
= 2400 2
4

R £ 2400cm? o
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Marks Marks
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36(b). 5
36.8x3+4+3.5%8
2
=138.4
She should pay $138.4.
36.8x3+3.5%8
=138.4
e OB 1 20$138.4 - 4
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